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Exercises

Exercise 1. Let

θ1 = [X/f(Y, 3), Y/g(Z), Z/h(X)]

θ2 = [X/f(Z), Y/g(X)]

t1 = h(X)

t2 = m(Y, n(X, Z))

Calculate the following:

(a) θ1(t1)

(b) θ2(t1)

(c) θ1(t2)

(d) θ2(t2)

(e) θ1 ◦ θ2

(f) θ2 ◦ θ1

(g) θ2 ◦ θ2 (this is not a typo, it is θ2 composed with θ2)

(h) θ1 ◦ θ1

Solutions are on the next page



CSE 3401, Functional and Logic Programming, Fall 2008. A. Belov 2

Solutions

Exercise 1

(a) θ1(t1) = h(f(Y, 3))

(b) θ2(t1) = h(f(Z))

(c) θ1(t2) = m(g(Z), n(f(Y, 3), h(X)))

(d) θ2(t2) = m(g(X), n(f(Z), Z))

(e) θ1 ◦ θ2 = [X/f(g(X), 3), Y/g(Z), Z/h(f(Z))]

(f) θ2 ◦ θ1 = [X/f(h(X)), Y/g(f(Y, 3)), Z/h(X)]

(g) θ2 ◦ θ2 = [X/f(Z), Y/g(f(Z))]

(h) θ1 ◦ θ1 = [X/f(g(Z), 3), Y/g(h(X)), Z/h(f(Y, 3))]


